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i Ditransitive as construction with argument positions
realizing agent, theme and recipient roles

1 Construe recipient broadly to include theme destination 1n
permanent and temporary possession change and
unidirectional and bidirectional information exchange

i Examples from Emai, member of Nigeria’s Edoid group
within Benue-Congo branch of Niger-Congo

1 Emai spoken north of Benin City, Edoid center of powerful
Benin Kingdom of pre-colonial Africa, known for bronze
casting and 1vory carving

8 Emai 1s strict SVO, grammatical and lexical tone,
postverbal particles and verbs in series

1 No generic or light verbs: ‘give,” ‘take,” ‘bring,” and ‘put’
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Table 1. Recipient marking by verb type.




Table 2. Recipient with manner of motion verbs.

nwu oo
take hold pick out
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[i and ye exhibit contrasting assumptions about recipient
la. 0li okposo nwu ema li oOli onwime.
the woman take.hold yam APP the farmer

“The woman gave yam to the farmer.’
“The woman took hold of yam, giving it to the farmer.’
b. 0li Okposo nwu ema ye¢ ol1i onwime.

the woman take.hold yam move.to the farmer
“The woman took yam to the farmer.’

“The woman took hold of yam, taking it to the farmer.’
c.0li onwime rii vbi aan.

the farmer be LOC here.area

‘The farmer 1s here 1n the area.’ [i assumes
d.6li onwime 1 1 ¢ vbi aan.

the farmer SC NEG be LOC here.area

‘the farmer 1s not here 1n the area.’ ye assumes




Other manner of motion take /i and ye, manipulate object
2a. oli okposo ze¢  ¢ken i o0li onwime.
the woman scoop sand APP the farmer
“The woman gave sand to the farmer.’
“The woman scooped sand, giving it to the farmer.’
b. 0li okposo z¢ cken yé oli onwime.
the woman scoop sand move.to the farmer
“The woman scooped sand, taking it to farmer.
“The woman took sand to the farmer.’
C. 0J¢ vun ibobodi 1i  oOhi.
Oje uproot cassava APP Ohi
‘Oje gave cassava to Ohu.
d.oj¢  vun ibobodi y¢é Ohi.
Oje uproot cassava move.to Ohi

‘Oje uprooted cassava, taking 1t to Ohi.’
‘Oje took cassava to Ohi.’




Manner of motion are transitive,

detransitive pluractional DO referent for some
3a 0j¢ nwu ema.
Oje take.hold yam
‘Oje carried a yam.’
b.0j¢c z¢  ¢ken.
Oje scoop sand
‘Oje scooped sand.’

C. 0Jc z¢ vbi oli ekén.
Oje scoop LOC the sand
‘Oje scooped from the sand.’

d *0j¢c nwu vbi ¢li éma.

Oje take.hold LOC the yam
‘Oje carried from the yams.’




[i also marks semantic roles benefactive and aversive
4a. Oli ovbekhan fi  agbo li  Oli oOkposo.
the youth blow flute APP the woman
“The youth blew a flute for the woman.’
b.¢li ivbekhano ¢ gbe abé 1li  0j¢.
the youths SC C hit hands APP Oje
“The youths are clapping their hands for Oje.’

C. 0J¢ nwu oli ¢ckpa lahee 1i  aleke.
Oje take.hold the bag hide APP Aleke
‘Oje hid the bag from Aleke.’

d.oje lahee li  aleke.

Oje hide APP Aleke
‘Oje hid from Aleke.’




[i 1n class of postverbal particles, co-occur with benefactive /i
5a. 0li ovbekhan gbé  oOli akhe a.
the youth break the pot CS
“The youth broke the pot.’
b.oli okposo ki  évbii O vbi emae.
the woman pour palm.oil CL LOC {food
“The woman poured palm o1l onto the food.’
c.alcke 0 o0 fo0o oli 6mi a 1li  oli omo.
Aleke SC C cool the soup CS APP the child
‘Aleke 1s cooling down the soup for the child.’

d.oe r€ obo ¢ vbi ¢be li aleke.
Oje put finger CL LOC paper APP Aleke
‘Oje signed / put his mark on the paper for Aleke.’




Allative ye from directional motion verb, place noun DO

6a. 6li dmohe ye¢ afuze'.
the man move.toward Afuze
‘“The man has moved toward Afuze.’
b. 0li Okposo y¢é evbo.
the woman move.toward there
“The woman has moved toward there.’
c. * oli Okposo ye Oi.
the woman move.toward 1t
“The woman move toward 1it.’
d. * 6li okposo yé oli ovbékhan.
the woman move.toward the youth

“The woman move toward the youth.’




Table 3. Residual Manner of Motion Verbs.

re kuee kuee
give/take present betroth

y y y
y y




re to manipulate mass, no transitive, detransitive with /i
7a.01¢ ré¢ ikhunmi 1i  Ohi.
Oje take medicine APP Ohi
‘Oje gave medicine to Ohi.’
b.0j¢ ré ikhunmi yé ohi.
Oje take medicine move.to Ohi
‘Oje took medicine to Ohi.’
c. *0j¢ re ikhunmi.
Oje take medicine

‘Oje took medicine.’

d.oj¢ ¢ vbi ikhunmi 1i  Ohi.

Oje take LOC medicine APP Ohi

‘Oje gave from the medicine to Ohi.’




Verb re requires following change verb or change postverbal
particle

8a. 0li okposo ré ogede chién  isi 0.
the woman take banana become ASS her

‘The woman made the banana hers.’

b.oje ré ikhunmi o wvbi ¢ko.

Oje take medicine CL LOC maize.meal
‘Oje put charms into the maize meal.’

‘Oje put medicine into the maize ball.’




Sense present takes /i and ye, transitive, no detransitive
9a. 0j¢ kuee  okpan li ire'.
Oje present gourd APP visitors
‘Oje presented a gourd to visitors.’
.0j¢ kuéé  okpan yé ire'.
Oje present gourd move.to visitors
‘Oje presented a gourd to the visitors.’
. 0oj¢ kuee  okpan.
Oje present gourd
‘Oje presented a gourd.’

d. *oj¢ kaee¢ vbi ¢li Okpan.
Oje present LOC the gourds
‘Oje presented from the gourds.’




Sense betrothal, /i not ye, no transitive but intransitive

10a. éli édion kaeéé  4li okposo i Ohi.
the elders present the woman APP Ohi
“The elders betrothed the woman to Ohi.’
b.* ¢li edion kuéé  Oli Okposo yé Ohi.
the elders present the woman move.to Ohi
“The elders betrothed the woman to Ohi.’
c.a kaeé oli okposo li  oOhi.
one present the woman APP Ohi
“The woman was betrothed to Ohi.’
d. a kaée i 05¢.
one present APP Oje
‘Oje got betrothed.’




Table 4. Ballistic motion verbs.




Ballistic motion takes ye, not /i, also change of location,
transitive, but no detransitive

l1a. 0je fi ukporan ye¢ aleke.
Oje throw stick move.to Aleke
‘Oje threw a stick to Aleke.’
b. * 0j¢ fi ukporan 1li  alcke.
Oje throw stick APP Aleke
‘Oje threw a stick to Aleke.’

c.0j¢ fi  Ukpéran yé ¢kéin 0go.

Oje throw stick move.to 1nside bush
‘Oje threw a stick inside the bush.’
d.oje fi ukporan.
Oje throw stick
‘Oje threw a stick.’




Table 5. Commercial transaction verbs.

de shen hae
sell pay
y \




Buy takes /i and ye, sell takes /i but not ye

12a. aleke dé éma 1li o6li onwime.
Aleke buy yam APP the farmer
‘Aleke bought yam for the farmer.’

b. aleke dé éma y¢é oli onwime.
Aleke buy yam move.to the farmer
‘Aleke bought yam for the farmer.’

c.aleke shén éma li oli onwime.
Aleke sell yam APP the farmer
‘Aleke sold yam to the farmer.’

d. * aleck¢ shén ¢éma yeé oli onwime.

Aleke sell yam move.to the farmer
‘Aleke sold yam to the farmer.’




Sell not buy 1n location change ye, buy and sell in detransitive,
buy not sell in source construction

13a. *0j¢ dé ¢éma ye aftze'.
Oje buy yam move.to Afuze
‘Oje bought yam to Afuze.’
b.0j¢ shén éma ye aflize'.
Oje sell yam move.to Afuze
‘Oje sold yam to Afuze.’

c. oj¢ de¢ vbi eli ikpun.
Oje buy LOC the cloths
‘Oje bought from the cloth pieces.’
d.oj¢c d¢ eéma vbi oObo isi aleke.
Oje buy yam LOC hand ASS Aleke
‘Oje bought yam from Aleke.’




Pay takes /i not ye, transitive and detransitive

14a. aleke haé inaira eéva li o0li omohe.
Aleke pay naira two APP the man
‘Aleke paid two naira to the man.’

b. * alecke ha¢ inaira eva yé oli omohe.

Aleke pay naira two move.to the man

‘Aleke paid two naira to the man.’
c. alcke haé inaira eva.
Aleke pay naira two
‘Aleke repaid the two naira.’
d.aleke ha¢e vbi  ¢€li inaira.
Aleke pay LOC the naira
‘Aleke paid from the naira.’




hae osa pay takes /i, double object, uniquely marks
benefactive 1n associative complement

15a. aleke hae oli dmohé osa.
Aleke pay theman debt
‘Aleke paid the man a debt.’

‘Aleke paid his debt to the man.’
b. aleke haé o6sa 1l o0li omohe.

Aleke pay debt APP the man
‘Aleke paid a debt to the man.’

.aleke 0 O hae 0sa 1si oOhi.

leke SC C pay debt ASS Ohi
leke 1s paying a debt for (on behalf of) Ohi.’




momo has transitive borrow sense, takes source construction,
but no transitive lend sense

16a. 0)¢ mdémo Opia.
Oje borrow cutlass
‘Oje borrowed a cutlass.’

b.0j¢ momo oOpia vbi Obo 1isi Ohi.
Oje borrow cutlass LOC hand ASS Ohi
‘Oje borrowed a cutlass from Ohi.’

c. *0j¢ momo dli Opia.
Oje lend the cutlass
‘Oje lent / loaned the cutlass.’




[i requires lend sense, never allows borrow sense, double
object requires lend sense

17a. 0)¢ mdémo opia 1li  Ohi.
Oje lend cutlass APP Ohi
‘Oje lent / loaned cutlass to Ohi.’

b.0j¢ mom¢d ohi Opia.
Oje lend Ohi cutlass
‘Oje lent /loaned Ohi a cutlass.’




Table 6. Communication verbs.

Z00 gue
recount relate

li hon v

vbiee v

TRAN v

vbi PT

ye ALL

vb1 0bo




Many take bidirectional /i hion and unidirectional vbiee
18a. 0j¢ kp¢  itan 1i  aléké hon.
Oje narrate saying APP Aleke hear
‘Oje narrated a saying to Aleke.’
.0j¢ kpé itan  vbiéé aleke
Oje narrate saying become.apparent.to Aleke
‘Oje conveyed a saying to Aleke.’
.0j¢ z606 inyemi li  aleké hon.
Oje recount matter APP Aleke hear
‘Oje recounted the matter to Aleke.’

0j¢ 266 oli inyémi vbiéé aléke.

Oje recount the matter become.apparent.to Aleke

‘Oje recounted the matter to / for Aleke.’




Unidirectional sing, vbiee, and bidirectional speak, /i hon

19a. *0j¢ s6 100 1li  aleké hon.
Oje sing song APP Aleke hear
‘Oje sang a song to Aleke’

.0j¢ sO 100 vbiée aleke.
Oje sing song become.apparent.to Aleke
‘Oje sang a song to Aleke’

.0J¢ ta c¢ta 1i  aléke hon.

Oje speak word APP Aleke hear
‘Oje spoke to Aleke’
d. * oj¢ ta cta  vbiée aleke.
Oje speak word become.apparent.to Aleke
‘Oje spoke to Aleke’




Sing as transitive, no detransitive, no allative ye, speak type

20a. 0j¢ sO6  100.
Oje sing song
‘Oje sang a song.’

b.*0je s6 vbir 100.

Oje sing LOC song
‘Oje sang from the song.’

c. *0j¢ s6 100 yé aleke.
Oje sing song move.to Aleke
‘Oje sang a song to Aleke.’

d.oj¢c ta cta.

Oje speak word
‘Oje spoke. / Oje spoke his words.’




Table 7. Directed information exchange.

ye ye ye

I1

ye ALL

ye CL
TRAN

ree after
1D]0]@
DOC ye ALL
DOC ye CL




Send, unidirectional message, no response required, ye no /i
2la. 0)¢ y¢ ohi y¢ aleke.

Oje send Oh1 move.to Aleke

‘Oje sent Ohi1 to Aleke.’

b.0je y¢ Uthunmi y¢é aleke.

Oje send message move.to Aleke
‘Oje sent a message to Aleke.’
c. *oj¢ yé ohi 1i  aleke.
Oje send Oh1 APP Aleke
‘Oje sent Ohi to Aleke.’
d.*o0j¢ y¢ Uthunmi 1i  aleke.
Oje send message APP Aleke
‘Oje sent a message to Aleke.’




Send 1s transitive with human noun theme, not with
metonymic noun uhunmi, but change of location ye

22a.0j¢ y€ ohi.
Oje send Ohi
‘Oje sent Ohi.’

b. * 0j¢ y¢ uhunmi.
Oje send message
‘Oje sent message.’

c.0J¢ y¢ ohi ye afuze'.
Oje send Ohi move.to Afuze
‘Oje sent Ohi to Afuze.’




Bidirectional ye ree, expect return message, from follow verb
23a.0j¢ ye  ohi rée alceke.
Oje send Ohi after Aleke
‘Oje sent Oh1 after Aleke.’
.0j¢ ye¢ Uuhunmi réé¢ aleke.
Oje send message after Aleke
‘Oje sent a message after Aleke.’
.0J¢ 0 ¢ rekhaen Ohi.

Oje SC C follow.after Ohi
‘Oje 1s following Ohi.’

.0]€ O O r¢ee 0O vbi ¢&ta isi inyd Oi.
Oje SCH follow CL LOC word ASS mother his
‘Oje adheres to his mother's words.’




Unidirectional send, double object with instrument not
recipient, allative ye, location change ye,

24a.0j¢ y¢é  ohi Uhunmi.

Oje send Ohi message

‘Oje sent Ohi on an errand / with a message.’
b.*0je y¢ aleke ohi.

Oje send Aleke Ohi

‘Oje sent Aleke to Ohi.’

.0]¢ ye¢ ohi Uhunmi yé aleke.
Oje send Oh1 message move.to Aleke
‘Oje sent Ohi on an errand to Aleke.’

.0j¢ y¢  ohi Uhunmi vye¢ aflz¢e'.
Oje send Ohi message move.to Afuze
‘Oje sent Ohi on an errand to Afuze.’




Table 8. Demonstration and instruction verb.

vbiee
show

vbiee
teach

vbiee
prove

vbiee
appear

I1

ye ALL

re NP

re O

re egbe

TRAN

DOC

re INST




Verb series and double object contrast for show and teach
25a.0j¢ ré oli ébe vbiée aleke.
Oje take the book become.apparent.to Aleke
‘Oje showed the book to Aleke.’
.0J¢ vbicéé aleke oli ¢be.
Oje make.apparent.to Aleke the book
‘Oje taught Aleke the book.’
.0j¢ re ol 1soomu vbiéé ohti.

Oje take the arithmetic become.apparent.to Ohi

‘Oje made the arithmetic apparent to Ohi.’

d. 0jc vbiée ohi isoomu.
Oje make.apparent.to Ohi arithmetic
‘Oje taught Ohi1 arithmetic.’




Teach double object takes instrument re, DO collocation limits
26a.0j¢ re oOli itan vbiée ohi ewain.
Oje take the saying make.apparent.to Ohi wisdom
‘Oje used the saying to teach Ohi wisdom.’
b.0j¢ ré oli épia  hian éran.
Oje take the cutlass cut trees
‘Oje used the cutlass to cut trees.’

‘Oje cut the trees with a cutlass.’

c.0J¢ re  uhaobi vbige ohi.

Oje take poison.arrow become.apparent.to Ohi
‘Oje showed the poison arrow to Ohi.’




Verb series for prove, no DO,
cognitive state change with egbe DO
27a.émi i 6j¢ 0-1 ré vbiée khi o6ia  1li obe 00.
thing R Oje do-F take show IND person R bad be
“The thing Oje did proved that he’s a bad person.’
b. icén isi oj¢ rée vbiee khi 61  00.
behavior ASS Oje take show IND thief be
‘Oje’s behavior proved that he was a thief.’
c.alcke re  égbe vbice.

Aleke take body become.apparent
‘Aleke appeared.’

d.aleke ré ¢gbe vbiee ivbia  Ol.
Aleke take body become.apparent.to children her
‘Aleke appeared to her children.’




Table 9. Recipient marking by verb class.
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